

A proof that  $\sum_{k=0}^n k \binom{n}{k} = n \cdot 2^{n-1}$  with  $n \in \mathbb{N}$

Lukas Prokop

2nd of January 2016

## Claim

$$\sum_{k=0}^n k \binom{n}{k} = n \cdot 2^{n-1} \quad n \in \mathbb{N}$$

## Preliminaries

Pascal's rule:

$$\binom{n+1}{k+1} = \binom{n}{k+1} + \binom{n}{k}$$

We derive:

$$\begin{aligned} \binom{n+1}{k} &= \binom{n}{k} + \binom{n}{k-1} & [k := k-1] \\ \binom{n}{k-1} &= \binom{n+1}{k} - \binom{n}{k} \end{aligned}$$

## Proof

*Proof.* **Induction hypothesis**

$$0 = 0 \quad \checkmark$$

**Induction step** Given that  $\sum_{k=0}^n k \binom{n}{k} = n \cdot 2^{n-1}$ ,  
can we show  $\sum_{k=0}^{n+1} k \binom{n+1}{k} = (n+1) \cdot 2^n$ ?

$$\begin{aligned}
\sum_{k=0}^{n+1} k \binom{n+1}{k} &= \sum_{k=0}^n k \binom{n+1}{k} + n + 1 \\
&= \sum_{k=0}^n k \left[ \underbrace{\binom{n+1}{k} - \binom{n}{k}}_{=\binom{n}{k-1}} + \binom{n}{k} \right] + n + 1 \\
&= \sum_{k=0}^n k \binom{n}{k-1} + \underbrace{\sum_{k=0}^n k \binom{n}{k}}_{n \cdot 2^{n-1}} + n + 1 \\
&= \sum_{k=1}^n k \binom{n}{k-1} + n \cdot 2^{n-1} + n + 1
\end{aligned}$$

Briefly, let's have a look at  $\sum_{k=1}^n k \binom{n}{k-1}$ :

$$\begin{aligned}
\sum_{k=1}^n k \binom{n}{k-1} &= \sum_{k=1}^n (k-1+1) \binom{n}{k-1} \\
&= \sum_{k=1}^n (k-1) \binom{n}{k-1} + \sum_{k=1}^n \binom{n}{k-1} \\
&= \sum_{l=0}^{n-1} l \binom{n}{l} + \sum_{l=0}^{n-1} \binom{n}{l} \\
&= \underbrace{\sum_{l=0}^n l \binom{n}{l}}_{=n \cdot 2^{n-1}} - n + \underbrace{\sum_{l=0}^n \binom{n}{l}}_{2^n} - 1 \\
&= n \cdot 2^{n-1} + 2^n - (n+1)
\end{aligned}$$

Followingly,

$$\begin{aligned}
\sum_{k=0}^{n+1} k \binom{n+1}{k} &= \sum_{k=1}^n k \binom{n}{k-1} + n \cdot 2^{n-1} + n + 1 \\
&= n \cdot 2^{n-1} + 2^n - (n+1) + n \cdot 2^{n-1} + (n+1) \\
&= 2 \cdot n \cdot 2^{n-1} + 2^n \\
&= n \cdot 2^n + 2^n \\
&= (n+1) \cdot 2^n
\end{aligned}$$

□